A note on g_{λ} —independent events

Zhang Qiang

College of Economics, Hebei University, Baoding, Hebei, 071002, China

Abstract: Borel—Cantelli's lemma with respect to g_{λ} —measures has been discussed in [5] and [11] when $\lambda < 0$. In this paper, the lemma is obtained by different way when $\lambda \neq 0$ and some results with respect to g_{λ} —independent events, such as the analogues of the Borel zero—one criterion and the Kolmogorov zero—one law, ect., are established. In addition, we discuss the relationships between superadditive (subadditive) measures and belief (plausibility) functions, respectively.

keywords: g_{λ} —measure; subadditive (superadditive) measure; g_{λ} —independence; zero—one law.

1. Introduction

The concept of g_{λ} —meaasures, which drop the addity property and use the λ —additivity (see[6]) instead, was initiated by Sugeno [9]. The concept of g_{λ} —independence of two sets was introduced by Kruse [8]. The notion of similarity, g_{λ} —indenpendent class, as a generalization of above concept, was defined by Hua[5] and Zhang [11] and Borel—Cantelli's lemma with respect to g_{λ} —measures has been discussed by Hua [5] when $\lambda < 0$. But a general lemma, $\lambda \neq 0$, is still lacking. Our main goal in this paper is to presente another proof of Borel—Cantelli's lemma and some zero—one law for g_{λ} —independent events when $\lambda \neq 0$.

In Setion 2, we discuss some elemental properties of g_{λ} — measures such as countably λ —subadditivity and the convergence or divergence of the series $\sum_{n=1}^{\infty} g_{\lambda}$ (A_n). In this section we also introduce the notion of subadditive and superadditive

measure and study the relationships between superadditive (subadditive) measures and belief (plausibility) functions, respectively.

In Section 3, we introduce the notion of g_{λ} —independent class and discuss its proerties. Furthermore, we obtain some results similar to classical probability theory, such as Borel — Cantelli's lemma, the Borel zero — one criterion and the Kolmogorov zero—one law, etc.

Throughout this paper, X denotes a nonempty set, \mathscr{A} a σ -algebra on X and the pair (X, \mathscr{A}) a measurable space. We conventionalize that $\lambda \in (-1, +\infty)$.

2. Properties of the series composed of g_λ-measure-values

Definition 2. 1 [9]. A set function g_{λ} from X to [0,1] is called a g_{λ} —measure on (X, \mathscr{A}) , if it satisfies the following conditions:

(1)
$$g_{\lambda}(\emptyset) = 0$$
, $g_{\lambda}(X) = 1$;

(2)
$$A,B \in \mathcal{A}, A \cap B = \emptyset \Rightarrow g_{\lambda}(A \cup B) = g_{\lambda}(A) + g_{\lambda}(B) + \lambda g_{\lambda}(A) g_{\lambda}(B);$$

$$(3) \{A_n, n \ge 1\} \subset \mathscr{A}, A_n \uparrow A(A_n \downarrow A) \Rightarrow \lim_{n \to \infty} g_{\lambda}(A_n) = g_{\lambda}(A).$$

Obviously, a g_{λ} —measure on (X, \mathscr{A}) is monotone, that is $. g_{\lambda}(A) \leqslant g_{\lambda}(B)$ whenever $A \subseteq B$, A, $B \in \mathscr{A}$, and the equality $g_{\lambda}(A-B) = (g_{\lambda}(A) - g_{\lambda}(B)) / (1+\lambda g_{\lambda}(B))$ holds for any sets A, $B \in \mathscr{A}$ and $B \subseteq A$. Moreover, g_{λ} —measures are probability measures when $\lambda = 0$. The properties of g_{λ} —measures on (X, \mathscr{A}) have been investigated in [3,4,6,11], etc. Here we recall some results which are useful in the following discussion.

Proposition 2. 1[3], Let g_{λ} be g_{λ} —measure on (X, \mathscr{A}) , then for every sequence $\{A_n, n \ge 1\}$ of disjoint sets in \mathscr{A} we have

$$g_{\lambda}(\bigcup_{n=1}^{\infty}A_{n}) = \begin{cases} \lambda^{-1} \Big[\prod_{n=1}^{\infty} (1+\lambda g_{\lambda}(A_{n})) - 1 \Big] & \lambda \neq 0, (countably \ \lambda-additivity) \\ \\ \sum_{n=1}^{\infty} g_{\lambda}(A_{n}) & \lambda = 0. \end{cases}$$

Proposition 2. 2[6]. If g_{λ} is a g_{λ} -measure on (X, \mathscr{A}) , and $\lambda \neq 0$, then

$$g^* := log_{1+\lambda}(1 + \lambda g_{\lambda})$$

is a probability measure on (X, \mathscr{A}) . Conversely, if g^* is a probability measure on (X, \mathscr{A}) , then

$$g_{\lambda} = -\lambda^{-1} + \lambda^{-1}(1+\lambda)^{g}$$

is a g_{λ} -measure on (X, \mathscr{A}) .

Now we introduce the notions of countably λ —subadditivity, subadditivity and superadditivity.

Proposition 2. 3. Let g_{λ} be a g_{λ} -measure on (X, \mathscr{A}) , let $\lambda \neq 0$ and let $\{A_n, n \geqslant 1\}$ be arbitrary sequence of sets in \mathscr{A} , then for all $A \in \mathscr{A}$ with $A \subset \bigcup_{n=1}^{\infty} A_n$, we have

$$g_{\lambda}(A) \leq \lambda^{-1} \left[\prod_{n=1}^{\infty} (1 + \lambda g_{\lambda}(A_n)) - 1 \right]$$
 (countably λ -subadditivity).

Proof. Let $A_0 = \emptyset$ and $B_n = A_n - (\bigcup_{i=0}^{n-1} A_i)$, $n = 1, 2, \cdots$. Obviously, $B_n \subset A_n$, n = 1, $2, \cdots, B_i \cap B_j = \emptyset$, $i \neq j$ and $\bigcup_{n=1}^{\infty} A_n = \bigcup_{n=1}^{\infty} B_n$, whenec by countably λ -additivily and monotonicity of g_{λ} , we get

$$g_{\lambda}(A) = g_{\lambda}(A \cap (\bigcup_{n=1}^{\infty} A_{n})) = \lambda^{-1} \left[\prod_{n=1}^{\infty} (1 + \lambda g_{\lambda}(B_{n} \cap A)) - 1 \right]$$
$$\leq \lambda^{-1} \left[\prod_{n=1}^{\infty} (1 + \lambda g_{\lambda}(A_{n})) - 1 \right].$$

Definition 2.2. A nonnegative set function g on (X, \mathscr{A}) is called subadditive if for any sets $A, B \in \mathscr{A}$,

$$g(A \cup B) \leq g(A) + g(B)$$

A nonnegative set function g on (X, \mathscr{A}) is called superadditive if for any sets $A, B \in \mathscr{A}$, and $A \cap B = \emptyset$

$$g(A \cup B) \geqslant g(A) + g(B)$$

By this definition we can obtain the following propositions immediately.

Proposition 2. 4. If g is subadditive , then for arbitrary positive integer n, $\{A_i, 1 \le i \le n\} \subset \mathscr{A}$,

$$g(\bigcup_{i=1}^n A_i) \leqslant \sum_{i=1}^n g(A_i).$$

If g is superadditive, then for arbitrary positive integer n, disjoint sets $\{A_i, 1 \le i \le n\}$

 $\subset \mathscr{A}$,

$$g(\bigcup_{i=1}^n A_i) \geqslant \sum_{i=1}^n g(A_i).$$

Proposition 2.5. If g is subadditive and continuous from below, i. e. for any increasing sequence $\{B_n, n \ge 1\}$ of sets in \mathscr{A} , $\lim_{n\to\infty} g(B_n) = g(\lim_{n\to\infty} B_n)$, then for any sequence $\{A_n, n \ge 1\}$ of sets in \mathscr{A} ,

$$g(\bigcup_{n=1}^{\infty} A_n) \leqslant \sum_{n=1}^{\infty} g(A_n).$$

If g is superadditive and continuous from below, then for any sequence $\{A_n, n \ge 1\}$ of disjoint sets in \mathscr{A} ,

$$g(\bigcup_{n=1}^{\infty} A_n) \geqslant \sum_{n=1}^{\infty} g(A_n).$$

Propsition 2. 6, If g_{λ} is a g_{λ} —measure on (X, \mathcal{A}) , then g_{λ} is subadditive iff $\lambda \leq 0$ and it is superadditive iff $\lambda \geq 0$.

Now we recall two concepts and a result from [1]:

Definition 2. 3. A belief function on (X, \mathscr{A}) is a set function Bel $: \mathscr{A} \to [0,1]$ satisfying

- $(1)Bel(\emptyset) = 0,Bel(X) = 1$
- (2) $\forall n > 1 \text{ and } \{A_i, 1 \leq i \leq n\} \subset \mathscr{A}$

$$\operatorname{Bel} \ (\bigcup_{i=1}^n A_i) \geqslant \sum_{I \subset \{1,2,\cdots n\}, I=\emptyset} (-1)^{|I|-1} \operatorname{Bel} (\bigcap_{i \in I} A_i).$$

A plausibility function on (X, \mathscr{A}) is a set function $Pl: \mathscr{A} \rightarrow [0,1]$ satisfying

- (1) $PI(\emptyset) = 0. PI(X) = 1$,
- (2) \forall n>1 and $\{A_i, 1 \leq i \leq n\} \subset \mathscr{A}$

$$\operatorname{Pl} \left(\bigcap_{i=1}^{n} A_{i} \right) \geqslant \sum_{I \subset \{1,2,\cdots n\}, I=\emptyset} (-1)^{|I|-1} \operatorname{Pl} \left(\bigcup_{i \in I} A_{i} \right).$$

Proposition 2. 7. Suppose g_{λ} is a g_{λ} -measure on (X, \mathcal{A}) , Then g_{λ} is a belief function iff $\lambda \geqslant 0$ and it is a plausibity function iff $\lambda \leqslant 0$.

Applying Proposition 2. 6 and Proposition 2. 7, we can obtain the following theorem immediately.

Theorem 2.1. Suppose g_{λ} is a g_{λ} —measure on (X, \mathscr{A}) . Then g_{λ} is a belief function iff it is superadditive and g_{λ} is a plausibility function iff it is subadditive.

In order to prove the main theorem in this section, first we give the following lemma.

Lemma 2.1. For arbitrary real number $x \in [0,1]$, the following inequalities hold

(1)
$$\log_{1+\lambda}(1+\lambda x) \leq x$$
 and $\frac{\lambda^2}{\ln(1+\lambda)} x \leq \log_{1+\lambda}(1+\lambda x)$, $-1 < \lambda < 0$

(2)
$$x \leq \log_{1+\lambda}(1+\lambda x)$$
 and $\log_{1+\lambda}(1+\lambda x) \leq \frac{\lambda^2 x}{\ln(1+\lambda)}$, $\lambda > 0$.

Proof. Let $f(x) = \log_{1+\lambda}(1+\lambda x) - x$, $x \in [0,1]$. We can verify that f(x) is a convex function for every parameter $\lambda \in (-1,0)$. Thus for arbitrary $s,t \in [0,1]$ and $x,y \ge 0$, x+y=1, we have

$$f(xs + yt) \leq xf(s) + yf(t)$$
.

Now we choose s=1,t=0, then

$$f(x) \leqslant xf(0) + yf(1) = 0.$$

This implies that the inequality $\log_{1+\lambda}(1+\lambda x) \leq x$ holds for all $x \in [0,1], \lambda \in (-1,0)$. We can also verify that -f(x) is a convex function for every parameter $\lambda > 0$. Analogously we can prove that the inequality $x \leq \log_{1+\lambda}(1+\lambda x)$ holds for all $x \in [0,1], \lambda > 0$.

If $\lambda > 0$, by the mean value theorem, we get

$$log_{1+\lambda}(1+\lambda x) = log_{1+\lambda}(1+\lambda x) - log_{1+\lambda}1 = \frac{\lambda^2 x}{1+\theta \lambda x} \frac{1}{ln(1+\lambda)} \quad (0 < \theta < 1)$$

Since $1+\theta\lambda x \ge 1$, this implies that the inequality

$$log_{1+\lambda}(1+\lambda x) \leqslant \frac{\lambda^2 x}{ln(1+\lambda)}.$$

holds for all $x \in [0,1], \lambda > 0$. Analogously, the following inequality can be proved

$$\frac{\lambda^2 x}{\ln(1+\lambda)} \leqslant \log_{1+\lambda}(1+\lambda x), \quad x \in [0,1], \quad -1 < \lambda < 0.$$

and the lemma is proved.

From Lemma 2.1 we can immediately present the main theorem in this section.

Theorem 2.2. Suppose g_{λ} is a g_{λ} -measure on (X, \mathscr{A}) and g_{λ}^{*} as in Proposition 2.2, then for every sequence $\{A_{n}, n \ge 1\}$ of sets in \mathscr{A} and $\lambda \ne 0$

$$(1) \quad \sum_{n=1}^{\infty} g_{\lambda}(A_n) < \infty \text{ iff } \sum_{n=1}^{\infty} g_{\lambda}^*(A_n) < \infty,$$

(2)
$$\sum_{n=1}^{\infty} g_{\lambda}(A_n) = \infty \text{ iff } \sum_{n=1}^{\infty} g_{\lambda}^{\star}(A_n) = \infty.$$

3. g_{λ} —Independence events

Throughout this section, we shall assume that $\lambda \neq 0$. We recall the following definition from [8].

Definition 3. 1. Let g_{λ} be a g_{λ} —measure on (X, \mathscr{A}) . Sets A and B in \mathscr{A} are called g_{λ} —independent iff

$$g_{\lambda}(A \cap B) = -\lambda^{-1} + \lambda^{-1}(1+\lambda)^{\log_{1+\lambda}[1+\lambda g_{\lambda}(A)]\log_{1+\lambda}[1+\lambda g_{\lambda}(B)]}$$

Obviously, A and B are g_k-independent iff

$$log_{1+\lambda}[1+\lambda g_{\lambda}(A\cap B)] = log_{1+\lambda}[1+\lambda g_{\lambda}(A)]log_{1+\lambda}[1+\lambda g_{\lambda}(B)]$$

Proposition 3. 1. If $A \in \mathscr{A}$ and $g_{\lambda}(A) = 0$ or 1, then for arbitrary $B \in \mathscr{A}$, A and B are g_{λ} —independent.

Proof. If $g_{\lambda}(A) = 0$, it follows from $0 \le g_{\lambda}(A \cap B) \le g_{\lambda}(A)$ that

$$g_1(A \cap B) = 0 = -\lambda^{-1} + \lambda^{-1}(1+\lambda)^{\log_{1-\lambda}[1+\lambda g_{\lambda}(A)]\log_{1-\lambda}[1+\lambda g_{\lambda}(B)]}$$

If $g_{\lambda}(A) = 1$, then $g_{\lambda}(A^c) = 0$ and $0 \le g_{\lambda}(A^cB) \le g_{\lambda}(A^c) = 0$, where A^c denotes the complement of A. Hence $g_{\lambda}(A^cB) = 0$. Thus using Proposition 2.2 we have

$$g_{\lambda}(A \cap B) = \frac{g_{\lambda}(B) - g_{\lambda}(A^{c}B)}{1 + g_{\lambda}(A^{c}B)} = g_{\lambda}(B)$$

$$= - \lambda^{-1} + \lambda^{-1} (1 + \lambda)^{\log_{1+\lambda} [1 + \log_{\lambda}(A)] \log_{1-\lambda} [1 + \log_{\lambda}(B)]}$$

This completes the proof of Proposition 3.1.

Proposition 3.2. Set A is g_{λ} -independent of itself iff $g_{\lambda}(A) = 0$ or 1.

Proof. By Proposition 3.1 we can easily prove the proposition of sufficiency. If A and A are g_{λ} —independent, then

$$log_{1+\lambda}[1 + \lambda g_{\lambda}(A)] = (log_{1+\lambda}[1 + \lambda g_{\lambda}(A)])^{2}$$

that is. $g_{\lambda}^{*}(A) = (g_{\lambda}^{*}(A))^{2}$ or $g_{\lambda}^{*}(A)(1-g_{\lambda}^{*}(A)) = 0$. Hence $g_{\lambda}^{*}(A) = \log_{1+\lambda}[1+\lambda g_{\lambda}(A)] = 0$ or 1. And this implies $g_{\lambda}(A) = 0$ or 1. This has proved the proposition of necessity.

Now we generalize the concept which two sets are g_{λ} —independent to that of g_{λ}

-independent classes.

Definition 3. 2. If g_{λ} is g_{λ} —measure on (X, \mathscr{A}) and T a non—empty index set, classes \mathscr{L}_{t} of sets in $\mathscr{A}, t \in T$ are called g_{λ} —independent if for each integer $n \ge 2$, each choice of distinct $t_{i} \in T$, and sets $A_{i} \in \mathscr{L}_{t_{i}}$, $1 \le i \le n$,

$$log_{1+\lambda}[1+\lambda g_{\lambda}(\bigcap_{i=1}^{n}A_{i})] = \prod_{i=1}^{n}log_{1+\lambda}[1+\lambda g_{\lambda}(A_{i})]$$

Sets $\{A_t, t \in T\} \subset \mathscr{A}$ are called g_{λ} -independent if the one-element classes $\mathscr{L}_t = \{A_t\}, t \in T$, are g_{λ} -independent.

Obviously, non-empty subclasses of g_{λ} -independent classes are likenwise g_{λ} -independent classes. Conversely, if for every non-empty finite subset $T_1 \subset T$, the classes \mathscr{L}_t , $t \in T$, are g_{λ} -independent, then so are the classes \mathscr{L}_t , $t \in T$.

 \mathscr{T} h e o r e m 3.1(Extension theorem of g_{λ} —independent classes). Suppose $\{\mathscr{L}_{t},t\in T\}$ are g_{λ} —independent classes. If, for every $t\in T$, \mathscr{L}_{t} is a π —class, i. e. \mathscr{L}_{t} is closed under the formation of finite intersections, then $\{\sigma(\mathscr{L}_{t}),t\in T\}$ are also g_{λ} —independent classes, where $\sigma(\mathscr{L}_{t})$ denotes the σ —algebra generated by \mathscr{L}_{t} .

Proof. See[5,12].

1.

An immediate consequen of the above theorem is the following.

Corollary 3. 1 Sets $\{A_t, t \in T\} \subset \mathscr{A}$ are g_{λ} —independent iff the classes $\mathscr{L}_t = \{\emptyset, X_t, A_t^c\}$ are g_{λ} —independent.

Theorem 3. 2(Borel—Cantelli lemma). Let g_{λ} be a g_{λ} —measure on (X, \mathscr{A}) and let $\{A_n, n \ge 1\}$ be a sequence of sets in \mathscr{A} .

(1) If
$$\sum_{n=1}^{\infty} g_{\lambda}(A_n) < \infty$$
, then $g_{\lambda}(\limsup_{n \to \infty} A_n) = 0$.

(2) If
$$\{A_n, n \ge 1\}$$
 are g_{λ} —independent and $\sum_{n=1}^{\infty} g_{\lambda}(A_n) = \infty$, then $g_{\lambda}(\limsup_{n \to \infty} A_n) = \infty$

Proof. (1). On the one hand, by Corollary 2.1, we have

$$\prod_{n=1}^{\infty} \left[1 + \lambda g_{\lambda}(A_n) \right] < \infty$$

On the other hand, if $\prod_{n=1}^{\infty} [1+\lambda g_{\lambda}(A_n)]=0$, then

$$\sum_{n=1}^{\infty} log_{1+\lambda}((1+\lambda g_{\lambda}(A_n))) = \sum_{n=1}^{\infty} g_{\lambda}^{*}(A_n) = \infty$$

This contradicts that g_{λ}^{*} is a probability measure on (X, \mathscr{A}) . This contradiction indicates that $\prod_{n=1}^{\infty} ((1+\lambda g_{\lambda}(A_{n})) \neq 0$. Therefore the infinite product $\prod_{n=1}^{\infty} ((1+\lambda g_{\lambda}(A_{n})))$ is converge and $\lim_{k\to\infty} \prod_{n=k}^{\infty} ((1+\lambda g_{\lambda}(A_{n}))) = 1$.

Hence, it follows from Proposition 2.3 that

$$g_{\lambda}(\limsup_{n\to\infty}A_n)=\lim_{k\to\infty}(\bigcup_{n=k}^{\infty}(A_n))\leqslant \lim_{k\to\infty}\lambda^{-1}\big[\prod_{n=k}^{\infty}(1+\lambda g_{\lambda}(A_n))-1\big]$$

And (1) holds.

(2) Obviously, for arbitrary integer m > 1, $\{A_k \bigcap_{n=k+1}^m A_n^c, k = 1, 2, \dots, m-1\}$ are disjoint sets in \mathscr{A} and $\bigcup_{n=1}^m A_n \supset \bigcup_{k=1}^{m-1} (A_k \bigcap_{n=k+1}^m A_n^c)$. Using Proposition 2. 2, Corollary 3. 1 and Definition 3. 2 for abritrary integer $m \ge 1$, we get

$$1 \geqslant log_{1+\lambda} \left[1 + \lambda g_{\lambda} \left(\bigcup_{n=1}^{m} A_{n}\right)\right]$$

$$\geqslant log_{1+\lambda} \left\{1 + \lambda g_{\lambda} \left[\bigcup_{k=1}^{m-1} \left(A_{k} \bigcap_{n=k+1}^{m} A_{n}^{c}\right)\right]\right\} = \sum_{k=1}^{m-1} log_{1+\lambda} \left[1 + \lambda g_{\lambda} \left(A_{k} \bigcap_{n=k+1}^{m} A_{n}^{c}\right)\right]$$

$$= \sum_{k=1}^{m-1} log_{1+\lambda} \left[1 + \lambda g_{\lambda} \left(A_{k}\right)\right] \cdot log_{1+\lambda} \left[1 + \lambda g_{\lambda} \left(\bigcap_{n=k+1}^{m} A_{n}^{c}\right)\right]$$

$$\geqslant \sum_{k=1}^{m-1} log_{1+\lambda} \left[1 + \lambda g_{\lambda} \left(A_{k}\right)\right] \cdot log_{1+\lambda} \left[1 + \lambda g_{\lambda} \left(\bigcap_{n=k+1}^{\infty} A_{n}^{c}\right)\right]$$

implying

$$1 \geqslant \sum_{k=1}^{\infty} log_{1+k} \left[1 + \lambda g_{\lambda}(A_k) \right] \cdot log_{1+k} \left[1 + \lambda g_{\lambda}(\bigcap_{n=k+1}^{\infty} A_n^{\epsilon}) \right]$$

By Theorem 2.2, $\sum_{n=1}^{\infty} \log_{1+\lambda} [1+\lambda g_{\lambda}(A_n)] = \infty$. Therefore divergence of the series requires

$$\lim_{k\to\infty}\log_{1+\lambda}\left[1+\lambda g_{\lambda}(\bigcap_{n=k+1}^{\infty}A_{n}^{c})\right]=0$$

and so

$$\lim_{k\to\infty}g_{\lambda}(\bigcap_{n=k+1}^{\infty}A_{n}^{c})=0$$

Hence we have

$$g_{\lambda}(\lim \sup_{n\to\infty} A_n) = \lim_{k\to\infty} g_{\lambda}(\bigcup_{n=k}^{\infty} A_n)$$

$$=\lim_{t\to\infty} \left[1-g_{\lambda}(\bigcap_{n=t}^{\infty}A_{n}^{c})\right]/\left[1+\lambda g_{\lambda}(\bigcap_{n=t}^{\infty}A_{n}^{c})\right]=1$$

And the proof of theorem is completed.

As an immediate consequence of Theorem 3.2, we have the following corollary Corollary 3.2 (Borel Zero—One Criterion). Let g_{λ} be a g_{λ} —measure on (X, \mathscr{A}) and let the sets $\{A_n, n \geqslant 1\} \subset \mathscr{A}$ be g_{λ} —independent. Then

(1)
$$g_{\lambda}(\limsup_{n\to\infty} A_n) = 0$$
 iff $\sum_{n=1}^{\infty} g_{\lambda}(A_n) < \infty$

(2)
$$g_{\lambda}(\limsup_{n\to\infty} A_n) = 1$$
 iff $\sum_{n=1}^{\infty} g_{\lambda}(A_n) = \infty$

Theorem 3. 3. (Kolmogorov Zero-One Law). Let g_{λ} be a g_{λ} -measure on (X, \mathscr{A}) and let the sets $\{A_n, n \ge 1\} \subset \mathscr{A}$ be g_{λ} -independent. Then for each $A \in \bigcap_{n=1}^{\infty} \sigma$ $(A_n, A_{n+1}, \cdots), g_{\lambda}(A) = 0$ or 1, where $\sigma(A_n, A_{n+1}, \cdots)$ denotes the σ -algebra generated by the sets A_n, A_{n+1}, \cdots .

By Theorem 3. 3 and $\limsup_{n\to\infty}A_n=\bigcap_{k=1}^\infty\bigcup_{n=k}^\infty A_n\in\bigcap_{n=1}^\infty\sigma(A_1,A_2,\cdots)$, we immediately get the following

Theorem 3. 4 (Borel Zero-One Law). Let g_{λ} be a g_{λ} -measure on (X, \mathscr{A}) and let $\{A_n, n \geqslant 1\} \subset \mathscr{A}$ be g_{λ} -independent. Then $g_{\lambda}(\limsup A_n) = 0$ or 1.

References

- [1] M. Berres, \(\lambda\)—additive measures on measure spaces, Fuzzy Sets and Systems 27(1988)159-169.
- [2] Y. S. Chow and H. Teicher, Pobability Theory, (Springer Verlag, New York, 1988)
- [3] D. Dubois and H. Prade, Fuzzy Sets and Systems: Theory and Applications (Academic Press, New York, 1980).
- [4] Hua Wenxiu, The properties of some non-additive measures, Fuzzy Sets and Systems 27 (1988) 373-377.
- [5] Hua Wenxiu, The g_{\lambda}—measures and conditional g_{\lambda}—measures on measurable spaces, Fuzzy Sets and Systems 46(1992)211—219.
- [6] R. Kruse, A note on λ —additive fuzzy measure, Fuzzy Sets and Systems 8 (1982)309—222.
- [7] R. Kruse, Fuzzy integrals and conditional fuzzy measures, Fuzzy Sets and Systems 10(1983)309-313.
- [8] R. Kruse, On the entropy of λ-additive fuzzy measures, J. Math. Anal. Appl. 122(1987)589-595.
- [9] M. Sugeno, Theory of fuzzy integrals and its applications, Ph. D. Thesis, Tokyo Institute of Technology (1974).
- [10] L. A. Zadeh, Probability measures of fuzzy events, J. Math. Anal. Appl. 23 (1968) 421-427.
- [11] Zhang Qiang, Product measures and decomposition of λ additive fuzzy measures, IFSA'91-Math., 266-228.
- [12] H. J. Zimmermann, Fuzzy Set Theory and its Applications (Kluwer Nijhoff, Dordrecht, 1985).